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X 2368 7|E LSMAL 2X, AE 57| CHH| 34 2 =4, EUX|=
HE 4+ ooz EMYH Ex § Q70 HE &2M ZNE &0

O Hd Sd iH| 2362 HE7ISAH 59% |, LISHXL 09%1, TE7|'dAH 9.0%1

O (MMl TZHEXH 748,132 = 755,251, 7,119 (1.0%) S7}
- (=2 HIFE 37hH 143% = 152%, 0.9%p 37t

- (=02l &) 641,452F = 640,200, 1,252 &2, 02% HA
¥ o Ho) ogel Zdart A, TH =2 += d2

- (=2l 37 106,680 = 115,0519F, 83718 37t 7.8% 57t

O (d4¥) 944 14% 37, o9 2.8% &L
H 2y M 89.6%, O 104%
=0l H|E) Y 155%, oI 13.2%

O (AdEY) 60C O] AO0M ZA, HHX] RE A-LI 7}
= IL) 50CH(33.7%)>60LCH(25.7%) >40CH(18.7%)
Q|=9l H|Z) 20C 0|3}(30.9%)>30CH(24.7%)>40CH(16.3%)

O &2 e’ 23E) Hi2s, vAS 37t U] X 2F &2
- (A58 =22) ESQAR(54.8%)>HEF5(16.9%)> Hi 2S5 (12.8%)
- (=0 HIF) E25(384%)>BS=35(36.4%)>Hl &S (12.5%)

O XI9¥) 85, HF 24, SHM 57t
- (K|9dg 2@ 75'7|(23.0%)>Hg(14 8%)> 21 H(6.0%) > 2 AH(5.6%)
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o 234 67 T S Ci| ZISoIHe LA Mgl TERRL 2l Bt
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o ‘2349 68 HE7|SQUHLE= 1,548 I, m|ZH|XI+= 7558 HO =2 LIEHH
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s d=s Z2E + AKX 1 O/
g ©-2A'E HELR ot 'mEHAoE ZEX g, gioiel &

7, =] g7t mSHAOlE ZEX(E HEY|SeE SA=E +=

=y 23463
= JdE871s05 0| S KIA
ol (d H) S &HI(%) I ~(d H) & HI(%)
b 1,624 100.0 755 100.0
g4 1,457 95.6 677 89.6
GRS 67 4.4 78 10.4
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- d 58 OiH| 2363 G752 59% |, LSHXL 09% 1, 42714 H 9.0% 1

- (HA7|s003 ZHA) 160.08F H = 150.6TF W, 940t B ZtA 59% ZtA
- (@3HX} =71 7482 EH = 7559 H 079 H =7}, 0.9% S}
- 14N =7H 10788 9 = 1175K02 9, 978 o =7} 9.0% =7}

<d% 1> AM7|4N HE7|5U™H 03X EH F0| H W (22.68 ~'23.6F)

ATl @) e T B R RH(2H D) ——darigAEad) 355.0
180.0 -
- 305.0
130.0 1 - 255.0
81.8
[ea] [73] [=a 73] 73] [7e] 73] 2050
80.0 [ ¢¢NA - -
129.3 - 155.0
117.5
300 4 107.8 - 917 93.0 99.1 107.5 911 108.1 103.9 103.0
. : 87.4 : - 105.0
(2 GEE)
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(M) 748,132 = 755,251, 7,119H(1.0%) S7}

(2= HIE E7h 143% = 152%, 0.9%p S7F

- (LH=Ql ZhA) 641,452 = 640,009, 1,252 Z4, 02% Za
- (=2 71 106,680H = 115,051, 8371H 7}, 7.8% S}

T <E 3>9 F2 6/ HT5E LSHA S HE2 7IEF HF0| M2lE[of XO|7F s + AU

O 48 W 2=QE uIZNX 5Z(22.68 CHH| '23.6" H3}H
S (dE Hlm) Y 14% 71, o 2.8% 44

(AY 2m) S 896% Od 10.4%

(=2l H|E) Hd 15.5%, 4 13.2%

dlo

- (&d) 667,4158(89.2%) = 676,817H(89.6%), 9,402E(1.4%) S7I, 0.4%p S7

- (2=Ql H[FE B7h 145% = 15.5%, 1.0%p F7t
- (LH=Q! B7}) 570,341 = 572,1519, 1,8108 Z7t, 03% S7t
(= B7}) 97,074H = 104,666, 7,592E Z7t, 7.8% S 7t

- (014d) 80,717H(10.8%) = 78,434H(10.4%), 2,283%H(2.8%) L2, 04%p LA

s

- (2= 37h 11.9% = 13.2%, 1.3%p 37t
- (W= ZHA) 71,111 = 68,049H, 3,062H A, 43% A
- (=9 =71 9,606H = 10,385H, 779H =7, 81% St
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<H 1> 48 W.e=Q'E n|3Hxt 57 sg(22.6 CHH| 23.6F H3}
- 2022.62 2023.62 dd =I| iyl 52
- AL (Y)| PHUI(%) Ol I 2 () A AHI(%) QAR(H) | SLE(%)
A 748,132 100.0| 100.0| 755,251 100.0| 100.0 7,119 1.0
&A | L=l 641,452 85.7 85.7| 640,200 84.8 84.8 -1,252 -0.2
=0l 106,680 14.3 14.3| 115,051 15.2 15.2 8,371 7.8
A 667,415/  89.2| 100.0| 676,817| 89.6/ 100.0 9,402 1.4
=A | W=el 570,341 76.2 85.5] 572,151 75.8 84.5 1,810 0.3
2/=0l 97,074 13.0 14.5| 104,666 13.9 15.5 7,592 7.8
A 80,717/  10.8) 100.0| 78,434 10.4/  100.0 -2,283 -2.8
old | W=l | 71,111 9.5  88.1| 68,049 9.0 86.8 -3,062 -4.3
=0l 9,606 1.3 11.9 10,385 1.4 13.2 779 8.1

T OSHAsE S8agdl S22 A3 X 7] Azet XHo[7F US + UAS
AE o HEZEXSH2 DB

O HEE W.A=AE mSHXt SH(22.68 CiH| '23.68 H=h

- (HE@E H|w) 60CH O] MOAM ZA, LIHX| BE A™HL F7t
(HHYH 23) 5004(33.7%)>60CH(25.7%)>40CH(18.7%)
(2] =9l H|Z=) 20CH 0]5}(30.9%)>30CH(24.7%)>40CH(16.3%)

- (20CH 0|5}t 52,782H(7.1%) = 60,630 (8.0%), 7,848V(14.9%) S7I, 0.9%p 57}

- (=2 HEFE B7h 26.7% = 30.9%, 4.2%p 37t
- (Lf=Q =71 38,676H = 41,889F, 3,213H =7} 83% =7}
(=92 B7H 14,106H = 18,741%H, 4,635H =7t 32.9% 57}

- (30ctH) 75,462 (10.1%) = 80,471 (10.7%), 5,009E (6.6%) 57, 0.6%p 57}

- (QI=Q HIE &7 23.7% = 24.7%, 1.0%p S7t
- (=9 571 57,554 = 60,582F, 3,028H =7} 53% 7t
(= 57H 17,908% = 19,889H, 1,981H =7} 11.1% 7}

- (40tH) 136,3518(18.2%) = 140,906V (18.7%), 4,555B(3.3%) S7I, 0.5%p 57}

- (2=Ql H[FE B7h 153% = 16.3%, 1.0%p &7t
- (L=2 B7H 115,423 = 117,942%, 2,519 F7t, 2.2% S}
- (=92 B71 20,928 = 22,964%H, 2,036H =7t 9.7% St

- (50CH) 251,3218(33.6%) = 254,856H(33.7%), 3,535H(1.4%) S7I, 0.1%p 57}

- (Q=Q HIE B7H 12.9% = 13.2%, 0.3%p S7t
- (Lh=9Q1 =7h 218,973% = 221,169, 2,196H =7} 1.0% =7}
(=9 S71 32,348% = 33,687H, 1,3398 =7} 4.1% S}




- (60CH) 203,366(27.2%) = 193,898'H(25.7%), 9,468 (4.7%)

7=F¢’

1 5%P ZEAN

(2=l

HIE &) 9.9% = 9.7%, 0.2%p &4

C(Lh=Q1 ZEA) 183,276"H = 175,1529H, 8,124 ZtA, 44% A
S (Q=0l ZEA) 20,090 = 18,746%, 1,344F ZA, 6.7% A
- (70CH O| %) 28,850 (3.9%) = 24,490%H(3.2%), 4,360H(15.1%) L=, 0.7%p 2L
(=9 HIE L) 45% = 42%, 03%p A2 |
(LH=Ql ZtA) 27,550 = 23466H, 4,084 ZtA 148% A
oI Z+A) 1,300 = 1,024 A 212% A
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g :
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-8,124
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<E 2> HEE U o3old u|3HXt 57 E(22.6 CHH| '23.6 H3h

e 2022.62 2023.68 dH =S| OHl B2
- oIl (H) 2AHI(%) ol &=(Y) FAH|(%) IR (Y)| B2 E(%)
A 748,132] 100.0] 100.0] 755,251] 100.0] 100.0] 7,119 1.0
& =39l 641,452 85.7 85.7| 640,200 84.8 84.8 -1,252 -0.2
2/=0l 106,680 14.3 14.3] 115,051 15.2 15.2 8,371 7.8
200 2 52,782 7.1 100.0| 60,630 8.0/ 100.0] 7,848 14.9
0l =0l 38,676 5.2 73.3 41,889 55 69.1 3,213 8.3
2=0l 14,106 1.9 26.7 18,741 2.5 30.9 4,635 32.9
A 75,462 10.1] 100.0] 80,471 10.7]  100.0] 5,009 6.6
300H | L=l 57,554 7.7 76.3] 60,582 8.0 75.3| 3,028 5.3
Q=9I 17,908 2.4 23.7| 19,889 2.6 24.7| 1,981 11.1
A 136,351 18.2]  100.0] 140,906 18.7] 100.0] 4,555 3.3
4004 t=eol 115,423 15.4 84.7| 117,942 15.6 83.7 2,519 2.2
2=0l 20,928 2.8 15.3 22,964 3.0 16.3 2,036 9.7
A 251,321 33.6] 100.0] 254,856 33.7] 100.0 3,535 1.4
5004 =0l 218,973 29.3 87.1| 221,169 29.3 86.8 2,196 1.0
2=0l 32,348 4.3 12.9 33,687 4.5 13.2 1,339 41
A 203,366 27.2|  100.0] 193,898 25.7 100.0] -9,468 -4.7
60CH | LA=Ol | 183,276 24.5 90.1| 175,152 23.2 90.3| -8,124 -4.4
=0l 20,090 2.7 9.9 18,746 2.5 9.7 -1,344 -6.7
2ot A 28,850 3.9 100.0] 24,490 3.2 100.0] -4,360] -15.1
oa | U= 27,550 3.7 95.5| 23,466 3.1 95.8| -4,084] -14.8
2/=0l 1,300 0.2 4.5 1,024 0.1 4.2 -276 -21.2

F  OSNAE =5 A2840 SO2 Qg X[ 27| Xk2et XH0|7t U2 = US

Az

O 82 671l HJ2 W-=UE TSHIX}

- (Tl 498455 = 492,564%8), 5891H(1.2%) ZA. L= ZA, =9 F7It

Hu2

K.
—2A+S A2l DB

o=l HF 1.2%p 57t

o

=7h22.6¥ CHH| 23.6Y 3}

- (LH=2Q! Z+A) 414,096FH = 403,407H, 10,689H Z A, 2.6% LA
- (21=Q! =71 84,359 = 89,157H, 4,798H =7}, 5.7% S7}

L (B3 @) WEE, HAZ 571 LK AE 25 22
(RBY 2E) 25012 (54.8%)>H S22 (16.9%)> H2(12.8%)

(2=l HE) B2135(38.4%)>PE=35(36.4%)> i 2t3(12.5%)

1,

- (BEQ1E) 274,784H(55.1%) = 269,956H(54.8%), 4,828H(1.8%)
L (=9
L (=9l
L (=9

03%p L4

HE 37h 10.8% = 11.2%, 0.4%p Z7}
) 2451138 = 239,7529F, 53618 &, 22% A
370 29,6718 = 30,204F, 533E 37t 1.8% &7t

8) 202368 7|E, TH XHFT J0AM F2 67l HF0| XAX|ot= HIS2 652%Y




- (855 3) 84,4478(16.9%) = 83,435W(16.9%), 1,012(1.2%) &4, H|FZ =t

(=2l HE 37 33.2% = 36.4%, 3.2%p 37t
(LH=9Ql ZtA) 56,437H = 53,065H, 3,372H A, 6.0% 44
(=92l =71 28,010E = 30,370Y, 2,360 =7}, 84% 7}
- (H23) 47,983H(9.6%) = 47,459H(9.6%), 524H(1.1%) ZA, HE 2t
(=0l H|E 37t 359% = 38.4%, 2.5%p =7t
- (L= ZA) 30,761 = 29,236FH, 1,525%H A, 5.0% 44
- Q=02 B7hH 17,222H = 18,223%H, 1,001H =7, 5.8% S7t

- (HH&38) 61,642F(124%) = 63,0578 (12.8%), 1,4158(2.3%) 57}, 0.4%p 57t

(=2l H[E 37hH 11.4% = 12.5%, 1.1%p =7t
- (L4=2l 571 54,620% = 55,1779H, 557H 37, 1.0% 57t
- (=9 BT 7,022¥ = 7,880%, 858 S} 12.2% 7}

- (HIAIS) 17,9808 (3.6%) = 18,123H(3.7%), 1438 (0.8%) 57, 0.1%p 57t

(=l HE 370 7.7% = 8.1%, 0.4%p 7t
- (U=l B7h 16,587 = 16,661H, 74 Z7t, 04% St
- (=2 7 1,3939Y = 1,462F, 69 7t 5.0% St

- (EH3T) 11,6198(2.3%) = 10,534E(2.1%), 1,085(9.3%) &=, 0.2%p ZL

(=2l HE 37 9.0% = 9.7%, 0.7%p 37t
- (L=Ql Z+4) 10,578H = 9,5169H, 1,062H ZHA, 10.0% 24
- (QZQI ZA) 1,041 = 1,018Y, 23H ZA, 22% LA

- a

5 B

<33 5> F8 HZE Y-A=FAE TSN S (2268 Y] '23.68 A3

2,360 858

2,000
1,001 L 100
1,000
] s A 557 74 69

5.0
/ \ / \[ N\ 1062 23
-1,000 [5.0]
AN\ o4] 0.0

1O
-2,000 - V \V/

3,000

[/

-3,000 @ m - -5.0
4000 | 38 i £ | =2t olgl
, HE 57| Ty 52 Q1) 00
-5,000 —a=-TEH Z7| H| 5L SZLE(%)

-10.0
-6,000 - -15.0
@ y=o ool | Y=o ol | yBel ol | L=el =9l | Lol eFol | Yol 9=l ¥

okl

‘ sz ‘ HaD ‘ Hi 22 ‘ HIA 2 ‘ Egs
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<H 3> F2 XTE U.2=E mSHX 52 (2268 CiH| 23.68 tHal

~ 2022.69 2023.63 FERSIITIES,
T JARAXT)  TAHI(%) |oEa@)]  2AUI(%)  |owa(®)|E52E(%)
Al 498,455 100.0 100.0| 492,564 100.0 100.0 -5,891 -1.2
&R =0l 414,096 83.1 83.1] 403,407 81.9 81.9] -10,689 -2.6
2|=09l 84,359 16.9 16.9] 89,157 18.1 18.1 4,798 5.7
H 274,784 55.1 100.0| 269,956 54.8 100.0 -4,828 -1.8
g0 Y39 245,113 49.2 89.2| 239,752 48.7 88.8 -5,361 -2.2
2=l 29,671 6.0 10.8] 30,204 6.1 11.2 533 1.8
3 84,447 16.9] 100.0| 83.435  16.9] 1000 —-1.012]  -1.2
HEZ2Z| U=l 56,437 11.3 66.8| 53,065 10.8 63.6 -3,372 -6.0
2|=0l 28,010 56 33.2] 30,370 6.2 36.4 2,360 8.4
Al 47,983 9.6 100.0| 47,459 9.6 100.0 -524 -1.1
32z =0l 30,761 6.2 64 .1 29,236 59 61.6 -1,525 -5.0
2|=09l 17,222 3.5 35.9] 18,223 3.7 38.4 1,001 5.8
H 61,642 12.4 100.0| 63,057 12.8 100.0 1,415 2.3
2= =9l 54,620 11.0 88.6| 55,177 11.2 87.5 557 1.0
2|=0l 7,022 1.4 11.4 7,880 1.6 12.5 858 12.2
3 17,980 3.6 1000 18123 3.7 1000 143 0.8
A =2 =9l 16,587 3.3 92.3| 16,661 3.4 91.9 74 0.4
2/=0l 1,393 0.3 7.7 1,462 0.3 8.1 69 5.0
Al 11,619 2.3 100.0f 10,534 2.1 100.0 -1,085 -9.3
s u=el 10,578 2.1 91.0 9,516 1.9 90.3 -1,062 -10.0
2=l 1,041 0.2 9.0 1,018 0.2 9.7 -23 -2.2
) IBNASE A3 S08 od Ad 8] =9 Ao US & UB
2) 202362 J|EFH AE 0N £ 67f AZ0| KB HIEL 652%2.
Atz ANDZ=AEH e DB
O Xl u.ol=d T ZHX SZ(22.68 HH| 23.68 W
- (X198 H|m) A5, MHF, 24 S0 57t

(XS 23y 7 |(230%)>A15(148%)> 21 (6.0%) > 7 L£H(5.6%)
(=0l H|E) ME2(29.0%)>d7|(20.8%)> M Z(15.8%)> 21 & (14.8%)

- (M2) 115,251(15.4%) = 111,897 (14.8%), 3,354B(2.9%) HL, 0.6%p &L

- (=0l HIE 37} 28.8% = 29.2%, 0.4%p 7t
- (LH=Ql ZA) 82,084Y = 79,1789, 2,906F Z4, 3.5% A
(=Rl L) 33167 = 32,7199, 448FH LA 14% U

- (2UH) 47,8678 (6.4%) = 45,115F(6.0%), 2,752V (5.7%) &BL, 0.4%p &HL

(=9l HE 37h 133% = 14.8%, 1.5%p =7}
(LH= QI Z+A) 41,486H = 38436F, 3,050 A, 74% ZAa
(=9l =71 6,381 = 6,679Q, 298H =7} 47% S7t
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- (B71) 178,7098(23.9%) = 173,920¥(23.0%), 4,789E(2.7%) HL, 0.9%p &L

- (@/=el HE 37h 19.2% = 20.8%, 1.6%p 57t
(U= ZA) 144,418 = 137,7919, 6,627H ZA, 46% LA
(@)=l =71 34,291H = 36,129%H, 1,838 =7, 54% S 7}

- (CH+*) 31,1038 (4.2%) = 30,583F(4.0%), 520B(1.7%) &L, 0.2%p HL

(=0 HIE 370 40% = 4.6%, 0.6%p S7t
- (LH=OI ZA) 29,850 = 29,1629, 688FH ZUA, 23% LA
- (2I=2l 7 1,253 = 1,421%, 168 7, 13.4% 37t

- (A8) 27,888H(3.7%) = 29,168 (3.9%), 1,280H(4.6%) Z7I, 0.2%p E7}

(=0l HE 370 3.9% = 6.3%, 24%p 37t
- (=9 571 26,788% = 27,321H, 533H =7}, 2.0% =7t
- Q=92 =7H 1,100 = 1,847H, 747H =7}, 67.9% 7}

5

- (54 43,966 (5.9%) = 42,187H(5.6%), 1,7798(4.0%) &=, 03%p &

(2=l HE 28) 24% = 2.4%
(= ZEA) 42,9029 = 41,1779, 1,725F ZA, 40% A
(=0l ZA) 1,064 = 1,010Y, 548 LA 51% &AL

- () 31,633Y(4.2%) = 31,518H(4.2%), 115F(04%) S7I, HIZ =H

(2=l HE 37 42% = 5.5%, 1.3%p 37t
- (W=l Z) 30300 = 29,7769, 524F A, 1.7% L
- (=2l B7h 1,333H = 1,742, 40998 F7, 30.7% Bt

- (84h) 13516(1.8%) = 13,717 (1.8%), 201 (1.5%) 37, HIE =4

(=2l HE B7h 7.2% = 7.4%, 0.2%p 37t
- (LH=2l =7h 12,546H = 12,700Y, 154H =7} 1.2% =7}
(=R B7H 970Y = 1,017H, 479H LA, 48% LA

- (BF) 18,4738 (2.5%) = 16,882 (2.2%), 1,591H(8.6%) &=, 0.3% HA

(=2l HE S7h 4.1% = 6.6%, 25%p 37t
C (L= ZA) 17,721 = 15,762H, 1,959% ZA 11.1% 24
(=02 B71 752H = 1,1209Y, 368H 7}, 48.9% S 7t

(M) 251598 (3.4%) = 23,6718 (3.1%), 1,488F(5.9%) &L, 03%p HA

(=2l HE B7h 21% = 2.6%, 0.5%p 37t
C(Lh=0l ZEA) 24,641H = 23,0528, 1,589H ZA, 6.4% A
- (Q=Q 571 518 = 619%, 101H 37} 19.5% 7}
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(M=) 19,522F(2.6%) = 18,885H(2.5%), 6378 (3.3%) &L, 0.1%p &HL

- (2=Ql H[E B7h 26% = 3.3%, 0.7%p =7t
- (L= ZEA) 19,016F = 18,261H, 755H ZA, 4.0% A
- (=Q 571 506 = 624%, 118 S} 23.3% 7}

(CH™) 19,997H(2.7%) = 19,823H(2.6%), 174 (0.9%) &=, 0.1%p &L

- (2=2l H[E 37h 33% = 3.6%, 0.3%p =7t
(W= ZA) 19,347FH = 19,108F, 239H LA, 1.2% LA
(=2 &7 650 = 7159, 65H =7t 10.0% 7t

(MIZ) 3,075 (0.4%) = 2,895H(0.4%), 180H(5.9%) ZA, HEZ EHH

(=0l HE &) 163% = 15.8%, 0.5%p &2
S (Lf=9Ql ZtA) 2,574% = 2,438, 136 ZA, 53% A
C(QFQl ZEA) 501H = 4579, 44FH A 88% U4

- (3'2) 29,631 (4.0%) = 30,008%(4.0%), 3778(1.3%) S7I, HIE =4

- (2=l HE 37 91% = 9.5%, 04%p 37t
- (L4221 =71 26,9338 = 27,166%, 233H =7}, 09% 57}
- (=9 BT 2,698H = 2,842%, 144H B} 53% St

- (BE) 19,422H(2.6%) = 18,558H(2.5%), 864H(4.4%) LA, 0.1%p LA

(R HIE B 65% = 8.7%, 2.2%p &7}
(U=l P2) 18,1698 = 16946%F, 1223% L, 67% L
. (Q=9 Z7h 1,253 = 1,612, 35998 =7}, 28.7% Z7}

- (@) 19,963H2.7%) = 19,382%H(2.6%), 581H(2.9%) Z2, 0.1%p LA

- (2=l HE ) 1.8% = 1.7%, 0.1%p &2
- (L= ZEA) 19,598FH = 19,054F, 544H ZtA 28% LA
(2=l ZtA) 365Y = 328Q, 374, 10.1% LA

- (MIF) 5,144H(0.7%) = 5,333H(0.7%), 189H(3.7%) S7I, HI= EH

- (=9l HIE 37} 25% = 4.1%, 1.6%p 57}
- (Lh=2l =7h 5017% = 5,116H, 99% =7}, 2.0% =7}
C(QZEQ =7hH 1279 = 217Y, 90Y =7} 70.9% =7}
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<d8 6> XH9E W.2l=E TSH Xt

67.9
1,838
298 168 533 1,725 409 154 47

54 -524

4 sE(22.68 CHH| 236 H3}

7
3,000
T &7 o] 52 A YA(F)

- 57| hH 5% SUE%)
70.9

101 118 65 233 144 359 99 [0

755 239 136 -44 544 -37

2,000

1,000
368

489
| It

-1,000 -1,223
-1,589

-1,959

-2,000 30.7

-3,050

3,000

-4,000

5000 100
x Y \[ /)
Mg N 47| o+ 35 24 3 24 aF e N o NE s 5 ZY HF

F o OEMASE AZAD SO0Z QY £5 £ME £ 98
AE  AMZE2XEXN 2| DB
F o OEAASE 2HAZAD 502 Q) Xt 27| XEQF X0|7t YS £ US
A2 ANZEZXEF S DB
<H 4> X|"9E U e=old nIZHXt 4 (22,6 CHH]| '23.6F H3
e 2022.62 2023.68 HE S| Oy =2
. EPSE): AHI(%) EPSEE) TAHI(%) OIRIA(Y) | BUB(%)
b 748,132]  100.0]  100.0 755,251  100.0]  100.0 7,119 1.0
&H =0l 641,452 85.7 85.7 640,200 84.8 84.8 -1,252 -0.2
el=el | 106,680 14.3 14.3| 115,051 15.2 15.2 8,371 7.8
b 115,251 15.4]  100.0] 111,897 148  100.0] -3,354 2.9
N2 =0l 82,084 11.0 71.2 79,178 10.5 70.8 -2,906 -3.5
2/=0l 33,167 4.4 28.8 32,719 4.3 29.2 -448 -1.4
A 47,867 6.4  100.0] 45,115 6.0/ 100.0] -2,752 -5.7
oI =0l 41,486 5.5 86.7 38,436 5.1 85.2 -3,050 -7.4
el=el 6,381 0.9 13.3 6,679 0.9 14.8 298 4.7
p]] 178,709 23.9]  100.0] 173,920 230 100.0] -4,789 27
=Pl =0l 144,418 19.3 80.8 137,791 18.2 79.2 -6,627 -4.6
2|=0l 34,291 4.6 19.2 36,129 4.8 20.8 1,838 5.4
2 31,103 42 100.0] 30,583 4.0 100.0 -520 1.7
= =0l 29,850 4.0 96.0 29,162 3.9 95.4 -688 -2.3
2/=0l 1,253 0.2 4.0 1,421 0.2 4.6 168 13.4
3 27,888 3.7 100.0] 29,168 3.9  100.0 1,280 4.6
3= =0l 26,788 3.6 96.1 27,321 3.6 93.7 533 2.0
2l=9l 1,100 0.1 3.9 1,847 0.2 6.3 747 67.9
A 43,966 59 1000 42,187 56 100.0] 1,779 ~4.0
s (Y=ol 42,902 5.7 97.6| 41,177 55 g97.6]  -1,725 240
2|=0l 1,064 0.1 2.4 1,010 0.1 2.4 -54 -5.1
3 31,633 42 100.0] 31,518 42 100.0 -115 —0.4
34 =39l 30,300 41 95.8 29,776 3.9 94.5 -524 -1.7
/=0l 1,333 0.2 4.2 1,742 0.2 55 409 30.7
3 13,516 1.8 100.0] 13,717 1.8 100.0 201 15
SN =0l 12,546 1.7 92.8 12,700 1.7 92.6 154 1.2
=0l 970 0.1 7.2 1,017 0.1 7.4 47 4.8
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o 2022.68 2023.68 dE S| HHl &2
. EESE): AHI(%) EPSEE) TAHI(%) OIRIA(Y) | BUB(%)
H 18,473 2.5 100.0 16,882 2.2 100.0 -1,591 -8.6
2= =0l 17,721 2.4 95.9 15,762 2.1 93.4 -1,959 -11.1
2|=09l 752 0.1 4.1 1,120 0.1 6.6 368 48.9
Hl 25,159 3.4 100.0 23,671 3.1 100.0 -1,488 -5.9
&Y W=eol 24,641 3.3 97.9 23,052 3.1 97.4 -1,589 -6.4
2|=0l 518 0.1 2.1 619 0.1 2.6 101 19.5
H 19,522 2.6 100.0 18,885 2.5 100.0 -637 -3.3
8= =0l 19,016 2.5 97.4 18,261 2.4 96.7 -755 -4.0
2|=0l 506 0.1 2.6 624 0.1 3.3 118 23.3
Al 19,997 2.7 100.0 19,823 2.6 100.0 -174 -0.9
=0l 19,347 2.6 96.7 19,108 2.5 96.4 -239 -1.2
2|=0l 650 0.1 3.3 715 0.1 3.6 65 10.0
H 3,075 0.4 100.0 2,895 0.4 100.0 -180 -5.9
=0l 2,574 0.3 83.7 2,438 0.3 84.2 -136 -5.3
2/=0l 501 0.1 16.3 457 0.1 15.8 -44 -8.8
Hl 29,631 4.0 100.0 30,008 4.0 100.0 377 1.3
=0l 26,933 3.6 90.9 27,166 3.6 90.5 233 0.9
/=9l 2,698 0.4 9.1 2,842 0.4 9.5 144 5.3
H 19,422 2.6 100.0 18,558 2.5 100.0 -864 -4.4
=39l 18,169 2.4 93.5 16,946 2.2 91.3 -1,223 -6.7
2|=0l 1,253 0.2 6.5 1,612 0.2 8.7 359 28.7
H 19,963 2.7 100.0 19,382 2.6 100.0 -581 -2.9
=0l 19,598 2.6 98.2 19,054 2.5 98.3 -544 -2.8
=0l 365 0.0 1.8 328 0.0 1.7 -37 -10.1
Hl 5,144 0.7 100.0 5,333 0.7 100.0 189 3.7
=0l 5,017 0.7 97.5 5,116 0.7 95.9 99 2.0
=0l 127 0.0 2.5 217 0.0 4.1 90 70.9
H 97,813 13.1 100.0| 121,709 16.1 100.0 23,896 24.4
=9l 78,062 10.4 79.8 97,756 12.9 80.3 19,694 25.2
2|=09l 19,751 2.6 20.2 23,953 3.2 19.7 4,202 21.3
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